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@ 3em @6Cm ® 7cm
@ 8cm ® 10cm

AAED = AACD (RHS 35)
.. ﬁ = C_D — 6 (Cm)




@)

@ <4

—

<

Jo]aL Al JeflA &2 712




3. o2 1"9 AABCOIA A 1= WAloltt /BAI=20°, /ACB = 60°
A o, zx®t 2y o] 2717

A
202
I
607
B C
@Ax=120°, Ly =40° @ 1x=115° £y =45°
@ 1x=110° £y =50° @ /x=125° Ly =35°

® sx=130°, zy=30°

S5 ~
/A =2x20=40°
(B= 2X/y=2/y
AABC 9] WjZ}te] 27]19] 92 180° 0| B =
40° 42y +60° = 180°
oLy =40°
AABI S WZhe] 37]9] g2 180° 0|22
20° 4+ 40° 4 /x = 180°
s lx=120°




A

@ 20° @ 30° @40° @ 50°

® 60°

B

ABCD ©f|A BC = BD ©|E& o|5HAiZ%
(BDC = /BCD = 70°

AABC = AB = AC ¢l o547 golE 2
(ABC = /ACB = 70°

w2bA zx + /ABC 4 £/ACB = 180° 0|22
£x + 70° 4 70° = 180°

/x + 140° = 180°

coZx = 40°
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ACAE %

@AABD

ACAE & &

@ aABD

® /DAB = /(ECA

@ (DAB+ /EAC=90°

® DE="7

ACAE ¢ 5%

AB = AC, /D = /E = 90°, /DAB = /ECA ©°|E2=Z RHA
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e oA A1 - 0= AB = AC Q1 o|SHAZH o] YA 1}
oA uff zx O] A7]=Y

N\:36°

g
B C

O 14° @18° @ 20° @ 22° ® 24°

~&B

AABC 9] Q4o H O ¢ mj, %ABOC = /A O|EE /A = 36°
, /BOC = 72° o|t},
AABC o] fAlo] A1 %AA+9O° _ /BIC 0]B.E /BIC =

% X 36° +90° = 108° o]},

AOBC & o]5HAZIgo|B & ,OBC = 54° o]t}

%, /IBC = S/ABC = _ x 72 = 36° °|ck. wetA] LOBI =
LOBC - /IBC = 54° — 36° = 18° ©]t}.




RIALZYY WeFo] FolE thg T1H I 7o)
A9l uj, /BCD = 30° o|t}. o]d, /BAC
o] 27)& “Fotofet,

@ 100° @ 110° @120°

@ 130° ® 140°

(BCD = /BCA = 30°
(BCD = /ABC = 30° (3%)
/BAC =180°-60° = 120°




the 78 oA AABC = A Blo] Zo]7} 2H7F 6em, 8em, 10cm
A ZMZrol 1, H 1+ aABC 2 WAL o, AIAB 2] Ho]&?

@ 4cm? @ 6cm? ® 8cm?

@®)10cm? ® 12cm?

YE el S-S rolet & o
(AABCS] Hlo]) = E X 8 X6
= §><r><(10+8+6)
=24
L r=2cm

(AIAB ©] Yo])= % % 2% 10 = 10( cm?)




ohe 18olA A 1+ aABC 9 UiAe]th BE ] Zol&?

@ 6 @5 ® 8 @9 B)7

A 17 A2 9] YAlo]22 AD = AF,BE = BD,CE = CF
ojr}.
BE=x=BDO9/E2CE=11-x=CF,AD =10-x = AF
o|tt.

AC=AF+CF=10-x+11-x=7

x=7




10. A O £ AABC 9] 9J4o]1 A 1= A0BC 9 YAIY o, /IBC 9]
A71E?

A
/\

@ 15° @)20° ® 25° @ 30° ® 32°

/BOC = 2/A = 2x50° = 100° ©] 1,
OB = OC °]E& /OBC = (180° - 100°) + 2 = 40°
A 17 a0BC & YAHo|EZ /OBI = /IBC = 20°




